S 8 §8 8 §
+ +—— - + 668 ZHHoZ—
G/L'L | 09v0z | 2990z
G/l | 09v0z | £9%02
88
M_% - o0 1-99%07 1 eswz
S g
GL'l— | 09v0z | £5¥90Z
G/'l— | 09v0z | £590Z
L£9C=1 190z -+ o1v0z
05%- 9oz
-89V~ 9040z 1 G1'$0Z +
I/ SLv0Z
[/ b— Sl'voe
9/ p— SLv0Z
n ] —1 i —l n 200 D
S 8§ I R g9l % o
N Y N Y N 3
S
318t
2 S X
RO [ [
AR
S & &
© (o) ~ M N
m m m N N
+ +—— t—— +—— + H6-& B8P0Z—
(=]
8s
M_m - w0+ ILh0Z + svoz -
Sg
F£9°C—-{ 9902 + 0602 -
99°c0Z | £0v02
cly— -
L F " Feovr ¥ S0%0Z -
09— S0%02
6L7- Y0902
£0°9- Y0%0Z
6v'9- 0402
96°9— Y0902
86°'9— Y0902
£/°9— v0'v0C
— 1 Iy —l n COBNZ.
S 8 I B 9l&y-
N Y 8 N N
00F-| S
S | B | ©
2 S S
B [ [
AR ER:
S & &
S ] S S S
N, N, SN, N N _apa 1240z
T T L 1 T UU 0 L2 m a4
(=]
S
28 T T
S
169Y—| 1 |
G9v—
99%— 12v0Z
69T —+ 12'%0Z
) 12002
ILYr—- )
Cop—T 10z - 12902
1Z'v02
£Lh— 1240z
18v- 0z%02
18°9— 0z%0Z
L= [N 04
£TL- ¥1%02
PLHOZ
n 1 PR —l n 00:Q ﬂ_..rmw
S 8§ I B g%
N N N N Y 3
S
318 |E
-2 S R
D [ [
S & &
S S S S S
N, N N, SN N _ana oz
T T L 1 T UU© OFPUT
- G/l 19002 + k902
S
88
S8 - 000 -} 29v0z -+ #5p0z -
S
S3
-G/ L — 1902 +- 8V %0Z
F0G T— 95%0Z -+ 81402
Eall T ervoz |
05%— | B9 | /1407
Cogp—TF %" X 1v0z ]
1z 4V | ooz
9p'G— 81'v0C
08'/- 1z2v0Z
) rr L_+. z_u ) 98— 1Zv0Z
O N .
0 12002
S 8§ %8 § §|o
S
3 B 5
o e )
‘S RS} -~
g [ [
S S S
3 N N
S o o
S 8 §8 8 8§
+ +—— -+ -+ + 668 FHH07—
299 oLvoz
GZ'C | Ivoz | 98¢0
- 007 1502 - 62702
(=]
oS
oS 000 86%0C e
SR T nnn T orsrns T ey |
2% 000 | 8s¥0z | 2h¥0C
S
-GG 'T— 6¥%0Z 1 01407
08°¢C— | 620z | £8°c0C
+—— “:r“ “L__.“ “L_u“ + 068 SHHIZ
[{e) N
S =
8 & |8 R’ R|3
S
3 18|t
8 S X
Beg [ [
S S S
3 & &
S o o
S 8 § 8 §
+ +—— -+ +—— + 068 56492
Ge9 2002
e 90'v02
6l G0%0Z
- Z6°C + #0402 - $0'%0Z -
G/¢ | sivoe | v0v0Z
0S8 | scvoz | zzvoz
067 | sevoz | zzvoz
S
3
ISES] L 4 4 i
J38
S3
FGZ'9—— 02v0Z + 2Z %02 -
T212-T T szv0z ]
+—— “L_u“ L_..“ “Lu“ + 068 FEHOZ
© N —
SR & & & K| 8
3
318 |t
-2 S X
QO [ [
AR
3 & &
S 8 § 8 §
+ +—— — +—— + H6-8 6+$9%—
- G8'C + 60%0Z 1 60702
- GZ'C + 61'v02 1 80402
- 0GC - #2v0z + 80902 -
8S
S - w0 £8P0 + orver -
S8 ££902
S3
FvZ Y —1 81402 +- 60°40Z
F66't—- £1%0Z 1 60702
V -G9'G— 60402 - 60'%0Z
n 1 gl —l n 000 L
§ETETEY . .
N N N N N 3
S
318 |E
-2 S S
QO ® [
| %%
3 < <
S 8 §8 8
+ ——+ —— + 008 gppoz — tppoz—
- 697/ T ¥SV0Z + 1¥V0Z -
- 8/°9 +9L%0Z 1 Zh'v0Z
- 98°C + 9/%0Z 1 £#%0C
- 86 + LL0Z 1 ¥'h0Z
- 9L'v ++6L%0Z 1 Shv0Z
- 6S°C +6/%0Z 1 2L 0T
- /87 1 08%02 +- SL¥0Z
- /1L - £8%0Z 1 8.%02
S
S
S8 - 000 - 980z + 6,102 -
s
Sg
-Gl L~ #8402 + 6,02 -
28 'T— 18'00C - 08'%0C
HISC— 1 1802 +- 8L %02
-91 v —-{ 0802 + €590 -
-G6 v —— 08%0Z + LZ%0Z
F16°G—— 8,%0Z + LZ'+0Z
F0/ '9—— 8L%0Z + L2402 -
29/ — 9502 + LT 0T
+ “:"u“ 4+ + 00-8—4++ LEH0E
< hy M .I
8 8§ 8 8|73
S
3 B 5
o e )
‘S s} -~
g [ [
S S S
3 N N
S o o

.. Od o
2~ I
Co s . S
o ._L” ; 1N 2] 39|z o
= m Ah - 0 < e £
b ox e N
S S SN E CIRTR LR
V= .m, 'M: DN“ ~ - <<
=0 £ 8 —_— =
S = ES
UNOR pA
0 B 5
o M 2]
S F o
o - Q
[T S o
m 083w -
~N © 0 =+ () g oD 3
s} S S [~ [~ X o S| L a
N, SN NN N ppeo 89507 =|= T & © 8
T L L IV T U0 [S3 =} - N & o
3 SN S Sl o
m gl g5|=Zz O A N S5 g
£ esg|S < O g8
< 3|E 2 &lW o W LL @
3 el g|Q = | = = N
> Qo 3 ol o =
S 2 - 6£°9 44502 + £L°60Z B = RS O (0
: IS S = ~ Sl ERW N G o £ | =
Q2 S = (@] — < ~N |2 © 1 N [O]
$I\g o3 = 9 2slg =Pl O| © |:]¢8
2 PO Ssco wQenil23=0O W a &5
N Q [ ] =9 35 Z 50 PP I = R
o S B § 29z 2@ gug O =2 L
2 s = Scos |QWogzsle sl £l O | S
B > 3 . . . 2380© WL%SWOMS,DC @)
S SN S - SV + 9 %0Z 1 9¥'60Z S5 b o [FOKTFE[E 2L =t
Q > S =385 |» P EF S o = < e
Q S -0 3 O © SR &< =
J ]2 s E-282 [2253£254|2 O %
§ S| roocqeotrwy | Fi:F [@EEQT|E S8 nDu w LU
-2 [<) =Sl O s — | = s
N S S¥.- @z:B82a%3D = W_
Q. o ol 2 W = olqg © &
&z SWgs s tim a o
- 0GC 40502 + 04502 negc D250z 23U m
8w 5§ OpT o ~ B8N a
SDHhwo O iRl 3
. . ) V_8z =2Z3%8 =sA 51z
F G/°| 190602 + 96'%0Z | X S5© 8= g2 S 5 51z
> 98 ) o g X 5|2
O  ©= [ L 3 5 s | <
%z ® = 2 2 N|=
+ > o < P x < N
. a . ; z z
= c S~ M N = z
s - = 3 . ! 2 2 w | @
23 / g °olg = : = |
S8 - oo 1260z wwe + | 3 =% -
J E T| E
S i | A y =
= 3 ol = i —Ole 25
Z 5} Y S
g < |8 X =885 |,
g 3] 3 L g2 4
g & Q = S Iggss <
[= o K ur 02 S3C<s| 2 | &
Las1—1 anenz L rpsnz 1] = N %] '®) SEX S 3| x
9/ "1 —- 90602 + 68'v0 9 o m_ ot 2 ClzNgl g |k
: : L RS
H1G7—+ tosoz +-68%024 | = =
F¥9°C—— 92%0Z -+ 68'40Z
FIGb— 1 1S'0Z - 68'40Z
-80°G—- 6802 - 68'V0Z
n — n I ] n n0°0 %
SRR R[S =
m & & 2 R| 8
S
3 13| 8
-2 S K
2 [ [y
s8¢
3 & <
S 8 b Q © Q > M N
SR S oo . ST AT T A
+ +——+ +——+ + 06-8 FSHOF + —— — — + BG-5 $6-£6Z—
- 98°GC + 21502 + 21'50Z 09 areoe
- vy - 91voz + 1L 902 - 9G% - IPE0Z 1 1#E0Z
Cly | oceoz | 65502
- £9°C - 960z + 0£°602 - £9°C 1 08502 - L£002
- 0G'C  ILv0Z +- 0¥ $0Z L 1 4 i
- G/l +9L%0Z + 66002 - G/°L +{ 60%0Z +- 20%0Z
S
0SS o
oSS S . . .
m_:.ov I o0 29402  scovoz - m m | 000 1 91'v0C 1 0 waNl
~S B
S m._ 2 oo | 91wz | cove
-G/ | — 60%0Z 1 96'€0Z
-0G T—- S0%02 1 §6°€0C
Cly— | occoz | 6902
L/~ sovoz | covoz - [0S =1 $9°02 T 69502
F0G 'G— 19%0Z - ¥S0Z -
-£9°9— 9802 - £5$0Z
F0G '/ — %02 - 65002
—————+ o +——+ + O0-8——Hr-$65—09465— ; — — — ; ann £9°F0Z
S 8 8 8 8§ 8|3 IR NNNF Iaar e KK
o ¥ N N S N 8
S
3 S S B = 2
K=} L ) o S o
m o -~ 3 S 9
S 2 2 RS © ©
5 S S S RS s
(7] D [
3 N N 3 & 5
S a a S & &
g 8 & & 8 £ 8 I 3 8 s
e R 666 82592 [P L I L LR LY 60707
L LY | zzvoz L zzvoz
m 4% T cov0z T 22902 i T T ]
- 8C°C +98°€0Z - Z1'h0Z
- 0G°C +85%0Z 1 86°€02
- 89°) 1 £9%0z 1+ sr¥0z - \
A - ¥0°L 1 ££€0Z 1 06'€02 -
S
SO S
S S . . .
m_% L w0 6907 + erve - mm | 000 ||NN 1114 1 m.thNl
~ .
a3 m_m oo | £2c07 | esve
GL°l= | wroz | 990z
G/'l— | icoz | 990z
67— 89€0Z + §9°€0Z
/1 —22'c0Z 1 8502
£8C | 1520z | 9pc0z
FGC Y — ¥S¥0Z - LZ%02 Loy = 16702 + ¢e0z
0Gv—| 9150z | 502
-00°G—-{ 6¥%0Z + 0£$02Z - " 7991 sze0z T vz |
FE1°9— #£€0Z 1 ££%0C
-20°/ — 10402 - 95'$0Z
-8G "/ —1 8502 +- 8502
Y N N 668 66905 o 66-8 92507
S 8 8 B Rz g TR [
N N N N N o N Y N Y x N 3
© — S
8 | & | & 3 |5 | &
2] S| g | § | =
L [} [} Bg [ [0
s § ]S S| 5| $
3 o 1 7] O 38
S o oo S & &
© o) ~ ) o
S <) <) S QS . . Q < = N =
D RO RO O L i ST T oo
008 Z1'%02 T LI R 1 LU L T (747 ]
AR A | 86t | oz | weoz |
Ly | weoe | orvoz " cpy | ooz T zicoz |
B T T 7 - £9°C + 18202 + L1507
- 0S¢ - 9%'%0z 1 8800 L 067 1 90z | czc0z -
- G/l + 05%0z + 6£%0Z - G/l 119002 - 02°€02
000 | agvoz | svsoz A
s8 000 | ssv0z | svvoz 88
S . . ) S
M_m F 000 + 95%0Z + Sy#0Z - Mu._m - 000 +/9C0C | es5oz
Qg oo | 96407 | @ a4
000 | esvoz | S¥r#0z
GL L= 0§02 1 ££°%02 -G/ |~ 1910z + #6507
B T T 7 -0G 'C—- 95°€0Z 1 ¥S'€0Z
B T T 7 -£9°C— 18°202 1 22°€02
L 1 1 4 | 05v— | 00z | S0z |
L 1 1 i " $9%— | sicoz | sic0z |
+ +——+ g + 06-8" EEHOE ; — - — ; FaValle) S1702
S & I B gl SETTTR TS [T
S N N N N 3 S 2 I < Q g
S
3 i) S kS S 2
RS IS & S o
.0 [ [ O [ [
2 | 8| % s | § | S
& & e | & | &
s o oo 3 & &
§ 8 % 8 3§ s 8 3 8 8
S L I 066 §6£66 Nt e e o —06°8 6868
- 62°C +{ 20902 - £0$0Z
B T T 7 - £Vv ++ S#0C 1 90'%0C
B T T 7 - £9°C 1 5z'c0Z + 6002
B T T 7 - 06T +00%0Z 1 #1402
L'l | sewoz | #ev0Z
G/l | sevoz | vev0z - G/'L 1 %002 + 0402
- 680 -+ 1r#0Z + I£$0Z - 88°0 +{ 80%0Z - ¥6£02
S S
m m 000 | w0z | scv0z &8
IS wo | wv0z | wwe Sg - 000 | uvoz 4 s6x0z -
SE a2 pd
i T T ] /80— 80%0Z + 680
GL'L— | scv0z | vZv0z
/- | sevor | vavor -G/ | — #0%0Z - 98°€0Z
-0G ' 7—+ ¥£ 0z + L1402 0§ '¢— 000 |- $6'€02 -
80°C— | s6¥0z | 90%0Z
| /8°€—"| 650z | 6670z | -£9°'C—1 §Z'0Z + 28607
Clp— | 65€0Z | 00902
i I I ] 0G5~ 0500z 1 £9c02 |
-00'G—— £8°€0Z 1 £8€0Z
N P N " PR N YaYalle) 1002 .
&7 .5. 3 + .LJ. .n,_ C&O a7 " 1 - 1y ' 06-8 £8°562—
SRR RN, ETTETTETTE Y
N o s Y N N N N 3
° — ]
o S| & | s | 8
3] S| g | § | &
S IS S B © o
S S S S S S
(7] D O
© N N 3 o K
© o) ~ M N
S 2 S phas N ) © ™ -+ ™ N
NN N SN, N 008 19502 S m_ m_ m N .
AR B LI O A B S oo S 668 agam
29/ 18°€0Z
G9¢ 18°€02
| 697 | | 18702 | - Y8V | 81'%0Z | 81%02 |
T oy T 4% T g0z T - £FF 16002 1 02507
- £9% IS0z 1 18502 - £9°C -+ 1200z - €207
- 06°Z + 920z + £9€0Z - 0G'C 1 9¥0C [ 8240
- G/l <+ 0£%0Z + 92002 - G/l ++0S%0Z 1 0£%0T
3 000 | gevoz | zevoz
o o
83 000 | esvoz | 20z S8
B T T A S L 4 gc- 4 .
_ 3 000 vz | zevoz M_ 8 000 95%02 SEY0T
Q W Q&+
oo | 9£H0Z | avee S
B T T 7 -G/ | —— 0§%0Z + 0¥ $0Z
B T T 7 -0G T— 9%'#0C 1 LS$0C
B T T 7 F£9°C— 1£'°02 1 0£%0T
- + =t = F0G ¥ —— 96°€0 + 1£%0Z
F$0°G—— 2£%02 1 28902
n 1 1 —l n 000 HOCNZ . N
& R T [PV rTeve Y S S S 66-8 £EH$0F
S [~) = o N !
S~ 8 8 8 8| B 8§ 8 & & ]|
h=] — S
S 1 & | & 8 | % | 8
g S| 2| 5§ | =
By [} [} O
S| s | s s | & | &
n e [ (%2 Qe .
o N N o N N
S a a S & &
m M M m m 008 Z6°C0Z 5 8 2 I pa}
R LR s e 068 E6768 PP P L. PP S ZLFOF
197/ 76'c0Z
1£°G 2602 | 0C°G | ¢9%0z | 69402 |
" zoc | s9roz | 89w0z |
- G9'y + 2602 + 26002 - c0s
- L0V +99%0Z 1 99402
- 00°C 9,0z + £9%0Z -
- 06T 290z ++ vL€0Z -
- £0°Z - v60z + 2L 02 -
- G/ T 9EV0Z - 2607
n | e¥voz | ovvoz
000 a0z | ovvoz - 01l 8602 + ££%0Z -
= 000
oon | 27| 7 o
o -+ -+ B (ST - 000 20607 + €80
i 000 | . L a0
S % zrvoz | OvrozZ S
000 | 750z | ovs0z
000 zvh0z | ovpoz FGL'l—— 10602 + $8'%0Z
L 000 L 1 i
F¥6°1— 10602 1 L8407
-0/ 'C—- 0050z +- 68'%0Z
L 1 1 - Fe9° ¢~ 867902 + 16902
r T T 7 -G b— 1 66%0Z 1 £6'%0C
F¥8 'G— §6'%0Z 1 S6'%02
-£1°9— £6'v0Z - 96%0Z
-88°9—- 00502 1 66702
LI4/— | zo50z | 10607 ]
n 1 . 1 n Falakie) mm.mumm
& T T [P G ST S ey W /oo 17 51
< < < I I @ S S S [S) S ‘S
N N N N N o N N N N N 3
S
8 | s | & B | s | §
152 s | 5| &
2 Qo Qo L [ [
S S S S s S
3 o o 7] Do o8
S o o 3 & &
© Y} ~ M N © N © e} < M
S S S S S S S S S S S
N N N N N N }
LI Mttt Py 008 £2H0E— L o o A ana 66-8 gy
- 86°C + 6¥'50Z 1 £¥°60Z
- ¥P'G 95502 1 Z¥°502
N 1 1 | - 95V I L£60Z 1 ¥£60Z
= + + = - $9°C + §1'602 -+ 92°502
- 98T + vi's0¢ 1 £2°502
- 0G°C ++ 9%%0Z + 96°C02
- 80°C 81502 +- 22502
- G/ -+ 05%0z + 6+'0Z -
- /8°0 1 ¥2'502 - 81'50Z
(=] (=]
S 23
S8 - 000 + 95%0Z + ¥50Z - S8 L oo Jgz0z -+ e -
a3 a3
Q & (=]
-6/ 1—-1 050z + 9602 - -G/ L —+ 12°60Z + 1¥°60Z
L06°Z2—-+ 9990z + s1%0z - F0G '€ —— £1'60Z - 66°60Z -
F£9°C— 1£'c02 - S0'%02
w_ | . 81v02
£Uv—| weoe o0z Loc % ggc0z 1 88502 -
(18— T arvoz | i
-E.w + + 9407 )
91407 -80°G—- 10'90Z + 10'90Z -
£l6- 10z
A
08 '9— 61°902 - 02°902
T o o o A SR E SVSFE 068 66462 B ) N N 666 2
6 7 < ny & [YY° o Y RY 7 <+ Ny
‘S S [ =) ‘S
M m M Y m 3 M M N N N Q 3
=] . =
3 S 5 3 S 5
o IS S o N )
'S S -~ ‘'S S -~
I S| 28
2| 8|8 2| 8|8
QS [ [ s [ [

GL91XL6C




	Sheets and Views
	5.1


